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=R 9,377,271 8, 143,927 1,233,344
500 L3 9,377,271 8,143,927 1,233,344
510 202 E2S 6,189,370 6,013,691 175,679
511 2L E3S 6,189,370 6,013,691 175,679
511-01 2 DR X3 3,574,484 3,398,805 175,679
[ 2ura | 3,574,484 3,398,805 175,679
< ANYETD > 3,574,484 3,398,805 175,679
CRE EEPEINEELEY % 38,960,0008 38,960 33,960 5,000
O THAHNY 2 =7 170,679 0 170,679
520 Al - CHIZEZS 3,187,901 2,130,236 1,057,665
521 Al - SHIEE2S 3,187,901 2,130,236 1,057,665
521-01 Al - CHIBE2S 3,187,901 2,130,236 1,057,665
[ 2ors ] 3,187,901 2,130,236 1,057,665
<MY= > 3,187,901 2,130,236 1,057,665
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OHAZIEH 970,000 0 970,000




= >
N = 0 &8 AH Y H N AN
20188 & =& 4 3| LS A A =Xt
2A: M =X
Mo Y FWA A3
Chel: MEEY JlEEY (B2l &)
2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
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7l 6,000 6,000 0
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A BMA A5 8,328,053 6.383,403 1,944,650
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7| 6,000 6,000 0
[= 1,832,624 860,299 972,325
2 3,796,086 2,823,761 972,325
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=2 4,700 4,700 0
[ 10,849 8,524 2,325
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2 150 0 150
302 0I=LHGHE A2 300 0 300
[~ 150 0 150
2 150 0 150
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[ 2,175 0 2,175
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[~ 2,175 0 2,175
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HYAAS0|E2SH 3,604,744 1,664,744 1,940,000
2 738,421 738,421 0
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2 1,622,259 652,259 970,000
HAZEEA 1,940,000 0 1,940,000
= 970,000 0 970,000
2 970,000 0 970,000
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[ 970,000 0 970,000
2 970,000 0 970,000
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OonAzaExd 1,935,000 0 1,935,000
S 967,500 0 967,500
[ia 967,500 0 967,500
03 Al S HHI 5,000 0 5,000
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= 6,320 1,320 5,000
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= 85,340 0 85,340
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2 9,226 9,226 0
2 700,000 700,000 0
= 46,268 46,268 0
2 2,504,586 2,544,395 39,809
E2NE 24 29 242,869 249,775 16,906
2 100,000 100,000 0
= 30,000 30,000 0
2 112,869 119,775 £6,906
GHEZx ZE XY 16,547 20,000 £3,453
207 & f Lt 16,547 20,000 £3,453
01 2P| 16,547 20,000 £3,453
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24 16,547,000 16,547 20,000 £3,453
MEa sS4 Z 26,322 29,775 £3,453
207 &R f Lt 16,547 20,000 N3,4853
01 P A 16,547 20,000 13,4853
ONZ SN SeeE o &2 X8 Il
g 3 16,547,000 16,547 20,000 13,453
a8 FEORI| 1,753,759 1,786,662 ~32,903
Ez¥s 1,032,012 1,064,915 ~32,903
101 Q124 H| 80,000 85,903 £5,903
04IAMZERSES 80,000 85,903 5,903
O=EZT3 AN 22l o2
25 70,000,000 70,000 75,903 £5,903
401 Al HI 2 2 CH bl 825,000 852,000 ~27,000
01 Al&HI 825,000 852,000 A27,000
02002l 2 - U422 ZHAY
23 173,000,0008 173,000 200,000 A27,000
sexsge 6,089,173 6,192,394 £103,221
2 102,000 102,000 0
2 1,400,000 1,400,000 0
= 712,600 712,600 0
2 3,874,573 3,977,794 £103,221
NEBANE 2FBL 6,089,173 6,192,394 £103,221
2 102,000 102,000 0
2 1,400,000 1,400,000 0
= 712,600 712,600 0
2 3,874,573 3,977,794 £103,221
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101 Q124 | 352,212 416,653 £64,441
04JIAHZERHSE S 352,212 416,653 164,441




SM: MESXD
Ha: ggcxegnel
Sl MEBYANL 2B (B9 ®R)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
OE2oXN 24 @ 2ol 0=d
243 302,483,002 302,483 357,826 £55,343
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OREBRIS X AE 33,650,000% 33,650 45,000 A11,350
405 TH&HE St 25,170 30,500 A5,330
01 MY SEHSY| 25,170 30,500 5,330
OZE (1t) 2 19,670,0002 19,670 25,000 £5,330
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206 T & 127,800 140,000 A12,200
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233 97,800,0002! 97,800 110,000 A 12,200
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101 @121l 14,196 24,096 9,900
YSE EEP RS 14,196 24,096 9,900
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HE 14,196,0002 14,196 24,096 9,900
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2B (M=KD 36, 156 31,332 4,824
201 et HH| 24,108 19,608 4,500
01 AL 2reltl 24,108 19,608 4,500
o4+ gu| 23 9,664,000% 9,664 8,664 1,000
OJl= 2l AE 12,944,0002 12,944 10,944 2,000
OYR 4 50,0008 * 6% * 52 1,500 0 1,500
203 YR = bl 3,564 3,240 324
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WS (M=) 147,304 129, 160 18, 144
SENS (M=KD 147,304 129, 160 18, 144
e 147,304 129,160 18, 144
802 B+ 3D 147,304 129,160 18, 144
03 U2LIS 18,144 0 18, 144
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B2 421-1) 8,144 0 18, 144






